
INSTRUCTIONS TO CANDIDATES :

Read the following instructions before you answer
the questions. Answers are to be given in a
SEPARATE OMR ANSWER SHEET provided
inside this booklet. Break the seal and start
answering the questions once asked to do so.

1. Please write your ROLL NUMBER very
clearly (only one digit in one block) as given in
your Admission Card.

2. There are 100 questions in this test. The
questions are arranged in the following order :

• Questions 1 to 40 belong to Science
Subjects.

• Questions 41 to 60 are on Mathematics
Subjects.

• Questions 61 to 100 are on Social Science.

3. Select the most suitable answer for each
question and completely darken the circle
corresponding to the correct alternative as
shown below.

4. All questions carry ONE MARK each.

5. There is no negative mark. Every correct
answer will be awarded one mark.

6. Do not write your name on any part of the
question booklet or on the answer sheet.
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There are 100 questions in all. For each

question four alternative answers are given

marked as (1), (2), (3), (4). From these, find

the most appropriate answer. The number

denoting this answer is there in the answer

sheet against the question number concerned.

Darken the  circle  with Blue/Black Ball Pen

only. Record the answers thus in the OMR

answer sheet only. Do not write anything in

the question booklet except your Roll Number

on the cover page and rough work in the

space provided for the purpose.
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1. The following animals are examples
for chordates

‘Shark, Frog, Pigeon, Cobra, Lion and
Bat’.

Select the correct assumption about
the above animals.

(1) All are cold blooded animals except
Lion

(2) All are warm blooded animals
except Frog

(3) Shark, Cobra and Frog are cold
blooded but others are warm
blooded

(4) Shark, Cobra and Bat are cold
blooded animals

2. Select correctly matched disease-
insect vector pair from the given.

(1) Malaria – Culex Mosquito

(2) Rabies – Tse – Tse Fly

(3) Bubonic Plague – Rat Flea

(4) Epidemic Typhus – House Fly
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3. In plants, seed/bud dormancy is
promoted/stimulated by the hormone

(1) Gibberellins

(2) Auxins

(3) Cytokinins

(4) Abscisic acid

4. Triple dwarf Mexican varieties of
wheat were developed by

(1) Dr. M.S. Swaminathan

(2) N.E. Borlaug

(3) Dr. V. Kurien

(4) Karl Von Frisch

5. Which plant group is known as
‘amphibians of plant kingdom’ ?

(1) Gymnosperms

(2) Bryophyta

(3) Pteridophyta

(4) Thallophyta

6. The excretory structure has a direct
entry into the alimentary canal.

(1) Kidney

(2) Malpighian tubule

(3) Contractile vacuole

(4) Nephridia

7. Identify the group of organisms that
show regeneration.

(1) Planaria, Amoeba

(2) Euglena, Paramecium

(3) Planaria, Hydra

(4) Euglena, Amoeba

3.   ��3�&�#�

Z����3��9#$���
 �+�0[�#O���
J�=�	��
�?�����\
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(2) (��
 �� 
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(4) �����#�\�,N�+
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8. ‘Bishnoi Community’ is well known
for the conservation of forests are
seen in which of the given states of
India ?
(1) Gujarat
(2) Kerala
(3) West Bengal
(4) Rajasthan

9. Where is the centre of hearing located
in brain ?

(1) Cerebellum

(2) Medulla Oblongata

(3) Hypothalamus

(4) Cerebrum

10. Select the correct statement from the
given.
(a) Pneumonia is caused by a bacteria

pneumococcus
(b) Syphilis is a sexually transmitted

disease caused by virus
(c) Typhoid is caused by Salmonella

typhi, a fungus
(d) Hepatitis is a sexually transmitted

disease which affects the liver

(1) (a) and (b)
(2) (c) and (d)
(3) (a) and (d)
(4) (b) and (c)

11. Select the wrongly matched pair from
the given.

(1) Chloroplast – Chlorophyll

(2) Elaioplast – Starch

(3) Aleuroplast – Protein

(4) Amyloplast – Carbohydrate
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12. Identify the group includes cells of the
Xylem.
(1) Seive tubes, Companion cells,

Tracheids
(2) Companion cells, Tracheids,

Vessels
(3) Tracheids, Vessels, Xylem

Parenchyma
(4) Tracheids, Companion cells,

Xylem Parenchyma

13. Identify the process that occurs while
viewing distant objects.

(1) Ligaments relax

(2) Focal length decreases

(3) Ciliary muscles contract

(4) Curvature of lens decreases

14. Which among the following is not a
characteristic symptom of
hypothyroidism ?
(1) Low energy production
(2) Increase of body weight
(3) Increased appetite
(4) Lethargy

15. An element M gives two fluorides

with formulae MF4 and MF6. The most

probable formula of its hydride is

(1) MH2 (2) MH4

(3) MH6 (4) M2H3

16. After filling 6s subshell the next
electron goes to the subshell

(1) 4f (2) 6p

(3) 5d (4) 4d

12. �� 8
��8�����������=���
�2G�
���'
��%

(1)  ^-#
���3�/� ?������/
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17. When a solid melts

(a) Temperature increases

(b) Temperature remains the same

(c) Heat is absorbed

(d) Heat is liberated

Select  the correct statements from the
above.

(1) (b) only (2) (a) and (d)

(3) (a) and (c) (4) (b) and (c)

18. The gas/gases formed by the reaction
between Conc.HCl and solid KMnO4

is/are

(1) H2 only (2) Cl2 only

(3) H2 and Cl2 (4) H2, Cl2 and O2

19. The IUPAC name of the alkane C5H12

with maximum branches is

(1) 2, 2 – dimethyl propane

(2) 2 – methyl butane

(3) 2 – ethyl propane

(4) 1,  2 – dimethyl propane

20. Which of the following gives 1 molar
solution of NaOH ? (Molar mass =  40)

(a) 4 g NaOH dissolved in 100 mL water

(b) 80 g NaOH dissolved in 1dm3

water

(c) 2 g NaOH dissolved in 0.05 L  water

(d) 800 mg NaOH dissolved in 2 mL
water

Select the correct alternative.

(1) (a) and (c) (2) (a) and (d)

(3) (c) and (d) (4) (b) and (d)

17. (���S������������
(a) ��0��8��$����
(b) ��0��8�O����$���	���
(c) ��0��)>��*����g���
(d) ��0��0�.
��#�����

���3�&����������$�$�,0<�#�
����@��	��%

(1) (b) ��,��
(2) (a)�$���(d) $��
(3) (a) $���(c) $��
(4) (b) $���(c) $��

18. >�l�HClm���S��20
�8�1
KMnO4 m�����n�&��� ,0#�
��
��	�������'�����#����Z
#������H�
ZH#�a
(1) H2 ��,��
(2) Cl2 ��,��
(3) H2m���Cl2- ��
(4) H2, Cl2, O2 ���#

19. HI#����2���&���S�3�1�C5H12
���)&�	$
�F�IUPAC ����
(1) 2, 2 – ��Q����&��,0��=�
(2) 2 –�����&�L�2�G�
(3) 2 – ���&��,0��=�
(4) 1, 2 – ��Q����&��,0��=�

20. ����� �����
���	��#$�&
NaOHom�F�1����3���8�$��������

H�
�a�(���3����� 
�p�40)
(a) 4g NaOH 100 mL J8
�&
8$�=�M�


(b) 80 g NaOH 1dm3 J8
�&
8$�=�M�


(c) 2 g NaOH 0.05 L J8
�&
8$�=�M�


(d) 800 mg NaOH 2 mL J8
�&
8$�=�M�


���$�$�,0<�#������@��	��%
(1) (a) $���(c) $��
(2) (a)�$���(d) $��
(3) (c) $���(d) $��
(4) (b) $���(d) $��
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21. The balanced chemical equation for
combustion of butane in oxygen is

2C4H10 + 13O2 →  8 CO2 + 10 H2O

What is the volume of CO2 at STP
formed by the combustion of 290 g of
butane ?

(Molecular mass of butane = 58)

(1) 896 L (2) 448 L

(3) 224 L (4) 112 L

22. In which of the following solutions
displacement reaction will not occur
when a Zn rod is dipped ?

(1) CuSO4 (2) FeSO4

(3) MgSO4 (4) AgNO3

23. The number of  covalent bonds in
propene is
(1) 2 double bond, 7 single bond
(2) 1 double bond, 6 single bond
(3) 1 double bond, 8 single bond
(4) 1 double bond, 7 single bond

24. The gaseous products obtained on
heating Pb(NO3)2

(1) NO2 only (2) NO2, O2

(3) PbO, NO2 (4) PbO, NO2, O2

25. The number of atoms present in 1 kg
glucose

(1) 8 × 1022 (2) 3.33 × 1024

(3) 8 × 1025 (4) 3.33 × 1021

21. L�2�G��(��W�J��&��
�����F
 �-���M� �#�����*
� �����

���	���


2C4H10 + 13O2 →  8 CO2 + 10 H2O

290 g L�2�G��02�C��$���
�

������'�����CO2m�F�STPm$��8

#��0[���,��a

(L�2�G�F����3���28����� 
�=  58)

(1) 896 L (2) 448 L

(3) 224 L (4) 112 L

22. ����������
���	���8�$��
�3�&�H��&� Zn� �q
����

�
#M�8�*
�)����� ,0#�
��
��	�
�
�a

(1) CuSO4 (2) FeSO4

(3) MgSO4 (4) AgNO3

23. �,0�=-����� �$�7
�&
��*�=����  ? ��$�J�
Lb�����,�$�*
�a

(1) 2  �^�Lb��/�7 �H�Lb��

(2) 1  �^�Lb��/�6  H�Lb��

(3) 1 �^�Lb��/�8 �H�Lb��

(4) 1  �^�Lb��/�7 H�Lb��

24. Pb(NO3)2 ��� �$�7���2��	�
�����8E�	���#������H�
�a
H#�a

(1) NO2 ��,�� (2) NO2, O2

(3) PbO, NO2 (4) PbO, NO2, O2

25. (������8�,>���d2�	� �&�5���
$���	���)I�3�����C�

(1) 8 ×  1022 (2) 3.33 ×  1024

(3) 8 ×  1025 (4) 3.33 ×  1021
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26. 2–Acetoxy benzoic acid is commonly

known as

(1) Analgin

(2) Novalgin

(3) Paracetamol

(4) Aspirin

27. The properties which generally
increase from top to bottom in a group
of the periodic table are

(a) Electronegativity

(b) Metallic character

(c) Ionization enthalpy

(d) Atomic size

Select the correct alternative

(1) (a) and (d)

(2) (a) and (c)

(3) (b) and (d)

(4) (b) and (c)

28. Read the following statements and
choose the wrong one.

(1) While writing the names of units
instead of symbols, never use
capital letters

(2) Never use plural form for symbols

(3) Never use full stop or comma
after a symbol except at the end
of a sentence

(4) While writing units along with a
value, there must not be any
space between them

26. 2m5 �I��W���L�� �$��
�) �
Q��F� �B��*��$��5.�$�=
�����0�
�a
(1) 5���J��
(2) ���#��J��
(3) 0��� I����
(4) ) 
0����

27. 0-���$�Q��
� ��L�3��8� (��
,>2=�&����3�&������������G�
�0����#��2����>�*�3�*


(a) 98�
�,����>I�#�I�

(b) �8�?-$� ^E�#�

(c) 5�$���*� +������&0�

(d) )I
��F�#8�=�

���$�$�
�����@��	��%

(1) (a)  $���(d) $��

(2) (a)�$���(c) $��

(3) (b) $���(d) $��

(4) (b) $���(c) $��

28. ����������	��� ,0<�#���
#�$�M�����	�/���I�$�,0<�#�
��'
��%
(1) ,0�-���	��0����$2*�I�
�3�����0�
�����������9�d-
+��8�#8�$�5;�����0�$�
>�	���0���D%

(2) ,0�-��3����L?�#���
�0�$�>�	���0���D%

(3) (���#���
��F�5# ��
�
8D���/� ,0�-�
���� ��+�
��

/� ����������$���r�
�0�$�>�	���
%

(4) 53#��3�����28�#���$�
$2*�I
�����������5#s��

$�&�5�8���'�����
%
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29. A stone is thrown vertically up with
an initial velocity of 20 m/s. How high
will the stone rise ?

(1) 20.41 m (2) 10.80 m

(3) 9.60 m (4) 20.00 m

30. The resultant force acting on a body
is zero. Then the body

(1) is at rest

(2) is moving with uniform velocity

(3) is moving with uniform acceleration

(4) (1) and (2)

31. A body has a mass of 60 kg on the

Earth. Its mass on the surface of  the
moon will be

(1) 20 kg (2) 60 kg

(3) 360 kg (4) 10 kg

32. The diagram below shows the
horizontal forces acting on a body of
mass 20 kg. If the mass starts from
rest, how far will it travel in the

horizontal direction in 3 S ?

(1) 4.5 m (2) 6.75 m

(3) 9.00 m (4) 25.5 m

33. Bernoulli’s theorem is used in the
construction of

(1) Ball bearings

(2) Screw gauge

(3) Aircraft wings

(4) Spectrometer

29. 20 �-%Z� %�)���,0�#>�
����2��
8�L��$�����3��8	
��.�$��
(����D
��,���$�
��8
���a

(1) 20.41 �-I� (2) 10.80 �-I�

(3) 9.60 ��-I� (4) 20.00 �-I�

30. (��� #<�#�&�5��E#�=���
0��*���L8��02J���K�&/�)
#<�

(1) ��e8�#O$�8�$���	��

(2)  ��8�
�8�$���	��

(3)  ��^�*
�8�$���	��

(4) (1) ���(2) ��

31. E2��$�&� 60 kg� �� �1�(���#<�
#��
���,f�0���8
�&��1��� 

�,�$�$���	���a
(1) 20 ���8�,>��
(2) 60 ���8�,>��
(3) 360 ���8�,>��
(4) 10  ���8�,>��

32. 20 ���8�,>����� �1�(���#<�#�
�F��&�5��E#�=��������
�-�
L8�3�*
���,�
�&���*�M�
��	���
%� 9:�#<�� ��e8�#
O$�&� ������ 0�.�=���$�
�*K�&�3 � 	F
� �$�����'

 t��	����2���,�$�$���	���a

(1) 4.5 m (2) 6.75 m

(3) 9.00 m (4) 25.5 m

33. ����=.$��#$�&� H��*

L�*28����^��5�� ��M
������
	�=����
�a
(1) �L����L$.��>���
(2) ,u2��>J

(3) #����M�.����
(4) � c�
�,����-I�
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34. The graph given below gives the
displacement of a pendulum bob with
respect to time. What is the length of
the pendulum ?

[Hint g2T lπ=

T – Time period of oscillation of the
pendulum

l – Length of the pendulum

g – Acceleration due to gravity]

(1) 0.74 m
(2) 1.5 m
(3) 2.2 m
(4) 3 m

35. In which of the following situations,

the image formed is always erect and
virtual ?

(1) Plane mirror and convex mirror

(2) Plane mirror and convex lens

(3) Convex mirror and concave mirror

(4) Plane mirror and concave mirror

36. 2015 is celebrated as the

(1) International year of relativity

(2) International year of light

(3) International year of electricity

(4) International year of sound

34. (��� ��0����0�Q�8
��
� �$

���� ��M
� O���P�
��

#���� ��I��*
���,�
�&����
��	���
%� �0�Q�8
��F��-3�
�,�$�*
� a

[ 2��� g
l2T π=

T –  ��0����0�Q�8
��F
������0-��Q

l –  ��0����0�Q�8
��F��-3�

g – E2>����^���28��1��^�*�]

(1) 0.74 �-I� (2) 1.5 �-I�
(3) 2.2  �-I� (4) 3 �-I�

35. ����=.$��#$�&�H��0��*�3�
8�*
��20-���	�=����,0���L��L�
�D�$
�=����� ��`�$�����#����
��$���	���
�a
(1)  ��8���=*�/� ���\�#�W

��=*�

(2)  ��8���=*�/� ���\�#�W

�8� 


(3) ���\�#�W
� ��=*�/
���\��#
� ��=*�

(4)  ��8���=*�/� ���\��#

��=*�

36. 2015 )�v�+�	���

(1) 5P���,w�)�0;����
#�+��$�

(2) ,0���
��F�5P���,w
#�+��$�

(3) ��#�����$����5P���,w
#�+��$�

(4) �x
��F�5P���,w
#�+��$�

*���+�,'

((���)  (�'

(S)
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37. The number of electrons required to
produce 1C charge is
(1) 1
(2) 1.6 × 1019

(3) 6.25 ×  1018

(4) None of the above

38. Analyse the figures and find the poles

of the magnet.

(1) I = N, II = N, III = N, IV = S
(2) I = S, II = S, III = N, IV = S
(3) I = S, II = S, III = S, IV = N
(4) I = N, II = N, III = S, IV = N

39. How long does a 60 W bulb take to

consume an energy of 0.72 units ?

(1) 1 h (2) 6 h

(3) 12 h (4) 120 h

40. The frequency of ac is 60 Hz. The
direction of electric current in the
armature coil of the ac generator
changes _____times in one second.

(1) 60

(2) 120

(3) 30

(4) 15

37. (����2�3������y
��'�	�#��
)#����$�98�,h�*��3���
�C�
(1) 1 (2) 1.6 × 1019

(3) 6.25 × 1018 (4) 9������D

38. ��,����0�����B�M
���P��

,B�#�����'
��%

(1) I = N, II = N, III = N, IV = S
(2) I = S, II = S, III = N, IV = S
(3) I = S, II = S, III = S, IV = N
(4) I = N, II = N, III = S, IV = N

39. 0.72 $2*�I
� ��#�������y�

��8#��	�����
� (��� 60�#�G

L�L
��,�� �$�����	���a

(1) 1 �*�	2�
(2) 6 �*�	2�
(3) 12 �*�	2�

(4) 120 �*�	2�

40. ac $����)#A
�� 60 �?��
 

)�*K�&� ac� J��.I��F�)�
��M�� ���$�8��F� ��#����
,0#�?
��F�����(���� 	F�&
_____________��#*���.���
(1) 60 (2) 120

(3) 30 (4) 15
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41. What is the remainder got if 4 + 42 + ...410

is divided by 10 ?

(1) 0

(2) 2

(3) 4

(4) 6

42. What number do we get on

simplifying 1002 – 992 + 982 – 972

+...+22 – 12 ?

(1) 4975

(2) 5000

(3) 5025

(4) 5050

43. A third of a vessel is filled with water.

When one more litre was poured in, it

became half full. How many more

litres are needed to fill it ?

(1) 1

(2) 2

(3) 3

(4) 4

44. What is the square root of 0.111... ?

(1) 0.101010...

(2) 0.010101...

(3) 0.1111...

(4) 0.3333...

41. 4 + 42 + ...+ 410 �������$�10
���'��?��M�&���G�����w�
�P�*
�a

(1) 0

(2) 2

(3) 4

(4) 6

42. 1002 – 992 + 982 – 972 + .... + 22 – 12

8v2���M�&� ��G���  �S�
�P�*
�a

(1) 4975

(2) 5000

(3) 5025

(4) 5050

43. (���0�,�
�&��2���8���� E�>�
�#1���'
%�(���8�I���2���(��M
�=���5���0�������.@�%�9��
�,��8�I���2���(��M�&�����#�
��.$���a

(1) 1

(2) 2

(3) 3

(4) 4

44. 0.111...m�F�#�>�28���P�*
�a

(1) 0.101010...

(2) 0.010101...

(3) 0.1111...

(4) 0.3333...
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45. The figure shows a square with its

vertices on the sides of a right triangle.

What is the length of a side of the
square ?

(1) 1 (2)
2
1

1

(3) 2 (4) 3

46. The length and breadth of a rectangle
are in the ratio 3 : 2 and its area is
216 square metres. What is its
perimeter ?
(1) 360 (2) 180
(3) 60 (4) 30

47. The sum of four consecutive terms of
an arithmetic sequence is 44. The
third number among these is 14. What
is the first number ?
(1) 2 (2) 4
(3) 6 (4) 8

48. The sum of the first n terms of an
arithmetic sequence is n2 + 3n. What
is its nth term ?

(1) 2n + 3 (2) 2n + 2

(3) 2n + 1 (4) 2n

45. (��� �G,�����*#��� (��� ��
���#���)*
���,�
�&� �����

��F��28��3D���,�����*
�
��
��F�#��3�8�*
%

 �����
��F�(���#�
��F
�-3���,��� F��-I.�*
�a

(1) 1 (2) 2
11

(3) 2 (4) 3

46. (�������
��F��-3#���#-��$��
3� z� 2����5��Lb
�8�*
%
5���F� 0�=3#
/� 216 ����
!�-I�%�5���F���I3#
��,�
�-I.�*
�a

(1) 360 (2) 180

(3) 60 (4) 30

47. (��� ��P��!*�$��8�����M
$�$���8��0��3�������� 44.
9#$��8��2����
� �S�� 14%
)���
� �S���P�*
�a

(1) 2 (2) 4

(3) 6 (4) 8

48. (��� ��P��!*�$����)���

n�0��3��������n2 + 3n%�5���F
nm���0����P�*
�a

(1) 2n + 3 (2) 2n + 2

(3) 2n + 1 (4) 2n
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49. A square and a rectangle have the

same perimeter and the length of the

rectangle is 1 metre more than its

breadth. The area of the square is

(1) 1 square metre more

(2) 1 square metre less

(3)
4
1

 square metres more

(4)
4
1

 square metres less

50. The product of two consecutive odd

numbers is 899. What is their sum ?

(1) 40 (2) 50

(3) 60 (4) 70

51. Appu’s mother is eight times his age.

After ten years, she would be three

times his age. How old is Appu now ?

(1) 6 (2) 5

(3) 4 (4) 3

52. The sum of a number and its

reciprocal is 
2
1

3 . What is the sum of

the squares of the number and
reciprocal ?

(1)
4
1

14 (2)
4
1

12

(3)
4
1

10 (4)
4
1

8

49. (��� �����
�����(�������

����� (�����I3#�*
%�����

��F��-3��#-���$	���1��-I�
�2���8�*
%�  ������
��F
0�=3#
/�����
��F�0�=3
#���	��

(1) 1 ����!�-I���2���8�*


(2) 1 ����!�-I����.#�*


(3)
4

1
 ����!�-I���2���8�*


(4)
4

1
 ����!�-I����.#�*


50. 5��
��
��'��(I �S��3���
>�*�N8�� 899%�5#$�������
�P�*
�a

(1) 40 (2) 50

(3) 60 (4) 70

51. 5=�#��F� 5n$���� ,0�$�
5=�#��F� ,0�$
��F� �G�
����*
%� 0
��#�+�����$�
����/�5n$����#$_
�5=�
#��F�#$_��F��2����������%
5=�#��
�9�=��3,��#$_�$��a
(1) 6 (2) 5

(3) 4 (4) 3

52. (��� �S�$���$���5���F�#��&

,��
��F$�������
2

1
3 %� �S�

$���$��� #���
,��
��F$��
#�>�3���������P�*
�a

(1)
4
1

14 (2)
4
1

12

(3)
4
1

10 (4)
4
1

8
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53. The figure below shows two squares
joined together.

The difference in their areas is 20
square metres and the difference in
sides is 2 metres. What is the total
area in square metres ?
(1) 34 (2) 52
(3) 74 (4) 100

54. An interior angle of a regular polygon
is 140°. How many sides does it
have ?

(1) 7 (2) 8

(3) 9 (4) 10

55. The figure below is drawn by dividing
a square of side 3 centimeters into
nine equal squares and drawing
quarter circles centered on some of
the corners of these squares.

What is area of the shaded part in
square centimetres ?

(1) 4 π (2) 8 π

(3) 4 (4) 8

53. �'�� �������� ���
�#M
��,���*
� ��#��� ��*�M���
	���
%

9#$����0�=3#��3����#���� �
20� ����!�-I.��/� #��3���
#���� �� 2��-I.���)*
%�)��
0�=3#
��,������!�-I.�*
� a

(1) 34 (2) 52

(3) 74 (4) 100

54. (� � �  �L?�E �J
��F� 5�

�	�\ °140 )*
%�5����,��#�
�3�'
��a

(1) 7 (2) 8

(3) 9 (4) 10

55. 3 � F-�-I��#���$� (��� ��
���
���� (������8�� �����
�3�$��E�>�M
�5#$�&���8���F
�28��� ��,f��$��0��#A
��
#�M��*
��#���$�1���,��%

��,�
��8��.�=�M� E�>
��F
0�=3#
��,������!� F��-I
.�*
�a
(1) π4 (2) π8
(3) 4 (4) 8

1 c
m

1 cm

1 c
m

1 cm
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56. The rational number 
7

22
 is an

approximate value of the irrational
number π , correct to how many
decimal places ?

(1) 1

(2) 2

(3) 3

(4) 4

57. The figure shows the distance
between the ends and height of a

circular arc.

What is the diameter of the circle in
centimetres ?

(1) 5 (2) 4

(3) 2 (4) 2.5

58. Triangle is drawn by joining three

numbers on a clock as below.

What is the largest angle in this
triangle ?

(1) 45°

(2) 60°

(3) 75°

(4) 90°

56.
7

22
 ���E�� �S��π ����5E�

��� �S�$�����,�� �����
O���� #��� �A����$� H�
���#�8$�*
�a
(1) 1
(2) 2

(3) 3

(4) 4

57. (���#A
��0
��F�5I��
�n�8�1� 5�8#��/� 5���F
�$�#���*
���,�
�&���*�M�
��	���
%

#A

��F�#�� ���,�

� F-�-I.�*
�a

(1) 5 (2) 4

(3) 2 (4) 2.5

58 ��,�
�&�(��� �i�	��8� 2��
��� �$�J�=�M
� (��� ,�����*�
#�M���	���%

9:�,�����*
��8�HI#��
#8�$����*��F�53#
��,�
$�*
�a

(1) 45° (2) 60°

(3) 75° (4) 90°

12

7 6

2

1

3

4

5

8

9

10

11

12

7 6

2

1

3

4

5

8

9

10

11
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59. In the picture below, AB and AC are
chords of the circle and OP and OQ
are radii parallel to them

What fraction of the arc BRC is the
arc PRQ ?

(1)
4
1

(2)
3
1

(3)
2
1

(4)
3
2

60. In the figure below, O is the center of

the circle and A, B, C are points on it

How much is BAC∠  + OBC∠  ?

(1) 45°

(2) 60°

(3) 75°

(4) 90°

59. ��,�
�&� AB, AC�#A

��8
{�*��3��/OP, OQ��9#s�� ��
P���$�)��3���*
%

BRC  ��� ��0
��F� �,�
E�>��*
�PRQ �����0��a

(1)
4
1

(2)
3
1

(3)
2
1

(4)
3
2

60. ��,�
�&�O��#A
��,f#���A, B, C

#A

��8�L�f�	3���*
%

OBCBAC ∠+∠ ��,��Q�,>�$�*
�a

(1) 45°

(2) 60°

(3) 75°

(4) 90°
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61. The slogan ‘No taxation without
representation’ is related to which
among the following event ?

(1) French Revolution

(2) Russian Revolution

(3) Chinese Revolution

(4) American war of Independence

62. Identify the factor not related with the

Lahore Session of the Indian National

Congress in 1929.

(1) Poorna Swaraj

(2) January 26 as independence day

(3) Salt Satyagraha

(4) Jallian Walabagh Massacre

63. Which among the following place in
Kerala is the site of the discovery of
Megalithic relics ?

(1) Kovalam

(2) Purakkat

(3) Kadalundi

(4) Marayur

64. The first cotton textile mill in Bombay
was established in

(1) 1856

(2) 1854

(3) 1858

(4) 1860

61. R,0�����B�$�D����������$�DU
�����,��#�����������&��$�
��	���H��� �E#���$��Lb
�=G���	����a

(1) ,Nt��#�Y#�

(2) .+���#�Y#�

(3) ����- 
�#�Y#�

(4) 5����	�� ^��,P�� ���

62. 9P�����+*&����\,> ��F
1929m�8� 8��?��� �n3�#�
��$��Lb��D�
�
���'
��%

(1) 02�* ^��J


(2) J��#���26� ^�,P�����

(3) �=
� ���,>?�

(4) J�8�$��#�8�L�>
��2G�	�8

63. �����0.$��#$�&����3
�&
�?���8�$�>�5#��w�����'

�$�O8���
�a

(1) ���#3�

(2) 0�.	��


(3) ��8�'�

(4) �.$2�

64. )���
�0��
����*���&
�L���L$�&�O�0�	�=G
#�+�

(1) 1856

(2) 1854

(3) 1858

(4) 1860
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65. Consider the following statements

and identify the correct response from

the options given thereafter

Statement I : There were paucity of

gold coin after the Gupta Age.

Statement II : It indicates decline of

trade and decay of towns.

(1) Statement I is false and

Statement II is true

(2) Statement I is true and Statement II

is false

(3) Both Statement I and Statement II

are true, and Statement II is the

correct explanation of Statement I

(4) Both Statement I and Statement II

are true but Statement II is not the

correct explanation of Statement I

66. Name the king of England who signed

the ‘petition of rights’.

(1) Charles I

(2) James I

(3) Charles II

(4) James II

67. Who among the following was the

volunteer captain of the Guruvayur

Satyagraha ?

(1) K. Kelappan

(2) A. K. Gopalan

(3) T. K. Madhavan

(4) P. Krishna Pillai

65. ��#������G�1�,0<�#���
0�����B�M
�5���$�J���$
,0����*����'
��%

,0<�#�� I z� >�0[��8vG
���
��+��  ^�C� ��*$��	

�:�8E�������G�%

,0<�#�� II z�9�
�#�*�J�
��F
5Bz0���
$����>��3���
���M�$$��� 2��=�	���%

(1) ,0<�#��I���I���,0<�#��II
���$���*


(2) ,0<�#��I����$���,0<�#��II
��I���*


(3) ,0<�#��I�����II �������$��
�,0<�#��II ,0<�#��I��F
���$�$�#���-��*#���*


(4) ,0<�#��I����0<�#��II ���
���$�*
%����&�0<�#���II
,0<�#�� I��F����$�$�#���-
���*�D

66. R�0I-+��(�N
���.I
 
U���
,0��*
�&�(=�#M�9�d'��8
��J�#


(1) ��� 
�(����

(2) J$�� 
�(����

(3) ��� 
��'���

(4) J$�� 
��'���

67. ����=.$����&�)��$�����
>���#�$2��  ���,>?
��F
�#�3F�$�����0
I��a

(1) ��%���3=�
(2) �%���%��>�0�8�
(3) ��%���%���B#�
(4) 0�%��A+
*�0�1
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68. Some events of the Indian National

Movement are given below. Arrange

them in correct chronological order.

a. Swadeshi Movement

b. Quit India Movement

c. Non-Cooperation Movement

d. Civil Disobedience Movement

(1) d b c a

(2) a c d b

(3) d c a b

(4) d a c b

69. Who remarked that ‘when France
sneezes the rest of Europe Catches
Cold’ ?
(1) Napoleon (2) Matternich
(3) Rousseau (4) Voltaire

70. Where did king Ashoka erect the Pillar
from which the national emblem of
independent India  is taken
(1) Gandhara

(2) Kamboja

(3) Kalinga

(4) Saranath

71. Anchuvannam and Manigramam
stand for

(1) Ancient Village Administration

(2) Religious groups

(3) Trade guilds

(4) Temple trustees

68. 9P��� ���-$� ,0O��#���$�
Lb�=G���8� �E#�������
�����	���%�5#����$�$���8
>*��� ,��
��8�����%

a.  ^�����,0O���

b. �^�I�P��,0O���

c. ��_?��*�,0O���

d.  �#�&���$��8�v�
,0O���

(1) d b c a

(2) a c d b

(3) d c a b

(4) d a c b

69. R,N�� 
���n�$�&�L�	�$�1
$��.�=������J8���+��0���	��U%
��E�,0�$�=G���
�a

(1) ���=�3�$� (2) ���I�*�	


(3) .2�_� �(4) �#��G$�

70.  ^�,P� E���
��F� ���-$
��r�����
�G�1�<�E��5����
�,�#�
���#���$�*
�O�0�
M�
�a
(1) >�b���
(2) ����J�
(3) �8��>�
(4)  ����`


71. 5t�#C�/� �*�,>�������#
�P���� 2��=�	����a
(1) ,0��-�,>���E�*�

(2) ��� �v��

(3) �M#�� �v��

(4) �;,�0�8��
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72. What is the historical importance of
the year 1453 A.D. ?

(1) Columbus reached on the Eastern
Coast of America

(2) Turks captured Constantinople

(3) Barthlomio Diaz reached on the
Southern tip of Africa

(4) John Cabet discovered Newfound
land

73. The Chinese-traveller Fa-hien visited
India during the reign of

(1) Chandra Gupta I

(2) Samudra Gupta

(3) Chandra Gupta II

(4) Buddha Gupta

74. Match the List I with List II and select
the correct response from the options
given thereafter.

List I List II

i. William Wordsworth a. Germial

ii. Charles Dickens b. Jane Eyre

iii. Charlotte Bronte c. Twintern
Abbey

iv. Emile Zola d. Oliver Twist
(1) i – b,  ii – d,  iii – a,  iv – c
(2) i – c,  ii – a,  iii – b,  iv – d
(3) i – c,  ii – d,  iii – b,  iv – a
(4) i – d,  ii – b,  iii – a,  iv – c

75. Edakkal Caves is located in which
district of Kerala ?
(1) Kozhikode
(2) Idukki
(3) Palakkad
(4) Wayanad

72. 1453 �%�Q�%�$�������,�
,0�B������P�*
�a

(1) ���3�L 
�5����	$���
����	��-��

�

(2) ���	�������\j�F����=��
0���M�	�

(3) L�
�8����$��Q$ 
�),N�
	$�������	�������8
�

(4) �J�\���LG
���2N:'
8�F

��'
�

73. ����- 
� t���$�$�N�?�$��
9P�� f���M�
�)����� E�*
��8
�*
�a
(1) �,f>�0[��(����
(2)  ��,�>�0[�
(3) �,f>�0[���'���
(4) L�">�0[�

74. 0G��� I/�0G��� II����#�0�����
B�M
����$�$��,���=��
��%

�-�� I �-�� II
i. #�D��� �#�Q
 
#�

 a. J���$&
ii. ��� 
�Q�	� 
 b. J$����$�
iii. +���8I
��,L�'� c. ���F\

�)L�

iv. ���8��� �3 d. (3�#���^�j


(1) i – b,  ii – d,  iii – a,  iv – c
(2) i – c,  ii – a,  iii – b,  iv – d
(3) i – c,  ii – d,  iii – b,  iv – a
(4) i – d,  ii – b,  iii – a,  iv – c

75. ���3
��8�H��� J�D$�8�*

��	&�>�?���O���� ��g�
��
�a
(1) ������	��

(2) 9��	�
(3) 0�8	��


(4) #$���




M-1 P.T.O.

Class – X SAT

-21-

76. In which state is the Bomdila pass
situated ?

(1) Sikkim

(2) Jammu and Kashmir

(3) Arunachal Pradesh

(4) Assam

77. Day time is ideal for long distance

radio transmission. Why ?

(1) Ionosphere is active during day

(2) Ultraviolet rays reach with great

intensity during day

(3) Increased production of Ozone

(4) Pollution will be more during

night

78. Which among the following

statements is true ?

a. Meanders are formed in the

upper course of a river

b. Potholes and waterfalls are

formed in association with

meanders

c. Meanders are formed in regions

where velocity of river decreases

d. Meanders are formed when the

velocity of river increases

(1) a, b and c are correct

(2) a and c are correct

(3) only b is correct

(4) only c is correct

76. �L��Q�8�������H�
� �O��

�8�*
�O�����g���
�a
(1)  �	��
(2) Jn����|-�
(3) 5��*��&�,0���

(4) ) ��

77. �.Q��$�����>�3�����-�v�2�
,0�;0*
��
�0�&� �$��*

5���$�J��%��P����'
�a
(1) 5$�*�}�$��0�&� �$


H�.� J-#��*


(2) 0�& �$

�5�,��#$8I

��|�����7�$�$���
���

(3) (�� �\�#�����H�.
�'�����

(4) ��,����8�3�&��8��-��*�
�2���8�*


78. ��#����~�$�G�1#$�&����$�$
,0<�#����H��D���a

a. ��$��Q.�������$���
�0��vG
�&��20�����1���

b. ��$��Q.���3����Lb�M

�0�G
�?�3��3����#1M�G
�3����20�����1���

c. ���$���� (��	��F� �#>�
��.$���9��3�8�*
� ��$��
Q.�����20�����1���


d. ���$���� (��	��F� �#>�
�2���������$��Q.�����20�
���1���

(1) a, b, c  ���#����$�*


(2) a, c  ���#����$�*


(3) b ��,������$�*


(4)  c ��,������$�*
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79. Choose the correct order of countries
on the basis of sunrise.

(1) Japan, India, China, Pakistan,
Oman

(2) China, Japan, India, Pakistan,
Oman

(3) Oman, India, China, Pakistan,
Japan

(4) Japan, China, India, Pakistan,
Oman

80. Which among the following is an
example for intermontane plateau ?

(1) Colorado Plateau

(2) South African Plateau

(3) Tibetan Plateau

(4) Deccan Plateau

81. Norway experiences severe winter
and cool summer. Which among the
following factors is mainly
responsible for this ?

(1) Latitudinal position

(2) Nearness to sea

(3) Ocean Currents

(4) Winds

82. In which of the Himalayan ranges is
the Kashmir Valley situated ?

(1) The Himadri

(2) The Himachal

(3) The Pirpanjal

(4) The Siwaliks

79.  2�����$
��F�5��O��
�&
��J��3�������$�$�,�����
�a
(1) J=��/�9P�/�����/
0���O��/�(���

(2) ����/�J=��/�9P�/
0���O��/�(���

(3) (���/�9P�/�����/�0���O��/
J=��

(4) J=��/�����/�9P�/
0���O��/�(���

80. ����� �����
���	��#$�&
0�T��#A��0-�E2��	
����?�*
��*


(1) ���3.��Q��0-�E2��

(2) ���	�),N�	��0-�E2��

(3) ��LI
�0-�E2��

(4) Q	���0-�E2��

81. ������$������#��/��*�=�1
�#�&��8#���5��E#�=���
��J���*
������#%�9���
����*
��$�,0B���v�����
�a

(1) 5;���-$�O���

(2)  ��,� ��-0��

(3) J8,0#�?��

(4) ��I���

82. ���|-�����
#��O�����g���

?���8$�� 0�T�� ����3�&
H��8�*
�a
(1) ?���,��
(2) ?����&
(3) 0-�0t&

(4)  �#�8��
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83. Choose the correct statements from
the following.

a. China type climate is
experienced in South Eastern
Africa

b. Mt. Kilimanjaro is the highest
peak in Africa

c. Certain parts of Africa experience
Mediterranean climate

d. Kalgoorlie gold mine is in Africa

(1) a and d are correct

(2) b, c and d are correct

(3) a, b and c are correct

(4) a, c and d are correct

84. What will be the time at New Delhi,

when it is 9.30 p.m. in Tokyo (135° E) ?

(1) 5.30 p.m. (2) 6.30 p.m.

(3) 6.00 a.m. (4) 6.00 p.m.

85. Identify the type of rainfall illustrated
below.

(1) Orographic Rainfall

(2) Convectional Rainfall

(3) Cyclonic Rainfall

(4) Frontal Rainfall

83. �~�$�G�1#$�&����$�$�,0<�#
����H����	$�*
�a
a. ��	
����	
�),N�	$�&
��������=
���8�#O�5��E
#�=����%

b. ��3���J�����),N�	$��8
HI#��� �$���1� ���������
$�*
%

c. ),N�	$������8�E�>�3�&
��Q�I�.��$�� ��8�#O
5��E#�=����%

d. ��&>2�8�� ^�CS���),N�
	$�8�*
%

(1) a, d  ���#����$�*

(2) b, c, d  ���#����$�*

(3) a, b, c ���#����$�*

(4)  a, c, d  ���#����$�*


84. �������� ( °135 ���	
)�$�&���,��
9.30 )$���	��������2Q&?�
$��8� �$��,��a

(1) 5.30 p.m (2) 6.30 p.m

(3) 6 .00 a.m. (4) 6.00 p.m

85. ��,�-���M���	���
�H�
����
���$$��*�
�����M.�$��%

(1) ���8�#Aw�

(2)  �#?��#Aw�
(3) �,�#���#Aw�

(4) #����S�#Aw�



M-1

Class – X SAT

-24-

86. Maximum temperature and minimum
temperature of a day is recorded at

(1) 12 night and 12 noon

(2) 1 p.m. and 3 a.m.

(3) 6 a.m. and 6 p.m.

(4) 2 p.m. and 5 a.m.

87. If the layers of the earth are arranged
in order from high density to low
density, the correct sequence is

(1) Inner Core – Crust – Outer Core
– Mantle

(2) Mantle – Inner Core – Outer Core
– Crust

(3) Inner Core – Outer Core – Mantle
Crust

(4) Crust – Mantle – Outer Core –
Inner Core

88. ‘Barkhans’ are formed due to

(1) River deposition

(2) Wind deposition

(3) Glacier deposition

(4) Wave deposition

89. A narrow strip of land connecting two
land masses is called

(1) Bay

(2) Gulf

(3) Isthmus

(4) Strait

86. (�����# �
��2��$���0��8$��
��.@���0��8$����*	�	�
��
�H����	� �$�3�8�*
�a

(1) ��,�� 12 �����M 12 ���

(2) 1 p.m.����  3 a.m. ���

(3) 6 a.m.  ���� 6 p.m. ���

(4) 2 p.m. ���� 5 a.m. ���

87. E:�0�3���3� �,f�$���
5��O��
�&� ,��-���M�&
���$�$�5#���?*�,�����
�a

(1) 5�	��
�V�E2#8
	��V
0�.	��
�V���F�&

(2) ��F�&�V�5�	��
�V
0�.	��
�V�E2#8
	�

(3) 5����
�V�0�.	��
�V
��F�&�V�E2#��

(4) E2#���V���F�&�V�0�.	��

V�5�	��


88. L�	������20����1���

H�
�,0,��$$�82��$�*
�a

(1) ��-����;0*�

(2) ��I��F����;0*�

(3) ?�����$�������;0*�

(4) �����8$�������;0*�

89. �'
�����3��n�&�Lb�=�	��
9����$�E2E�>�
��P���0��&
5.�$�=�����a

(1) ��	�&

(2) >�N


(3) 9<�� 


(4) ��8���	
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90. Nepal Himalayas lie between

(1) Indus and Sutlej rivers

(2) Sutlej and Kali rivers

(3) Tista and Brahmaputra rivers

(4) Kali and Tista rivers

91. Which of the following is not a feature
of democracy ?

(1) Independent and impartial
judicial system

(2) Rule of law

(3) Unlimited powers of government

(4) Periodic elections

92. Kyoto protocol is related to

(1) Environmental Protection

(2) Climatic change

(3) Sustainable Development

(4) Earth Summit

93. Find out the state in which direct
democratic devices are in force.

(1) India

(2) Switzerland

(3) Britain

(4) Ireland

90. ��=���?���8$��H����	
�����	��$�8�*
�O������g�
��
�a

(1)  �b�/� �
8J
������

(2)  �
8J
/���3�������

(3) ��</�,L�0�,�������

(4) ��3�/���<������

91. ��#������
���	����&
J��B�0��
��F� #���+�
5D�
�
�a

(1) ��+
0;#��� ^�,P#���$
�-�����$�#�#O

(2) ��$�#��
�

(3) >#\��F��
� 0��B�$�D�

5B�����

(4) ��e���9��#3$�&���	��
����@��=


92. �����G���,0��G�������P�
��$��Lb�=G���	����a

(1) 0��O���� ��;*�

(2) ��8�#O��#���$���

(3)  �O���#�� ��

(4) E:���M�����

93. ,0��;�J��B�0������>��
,0�$�>
�8�1���,w��H���

��'
��%

(1) 9P�

(2)  ^�I
 �8F


(3) ,L�G�

(4) 5$�8'
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94. Which of the following commission is

chaired by retired chief justice of the

Supreme Court of India ?

(1) National Commission for Women

(2) National Minority Commission

(3) National Commission for

Scheduled Caste

(4) National Human Rights

Commission

95. Which of the following is not true with

respect to European Union ?

(1) Common Constitution

(2) Common Market

(3) Common Currency

(4) Common Laws on Financial

transactions

96. The World Development Report 2015

is titled as

(1) Sustainable development and

poverty

(2) Human Resource Development

(3) Development as freedom

(4) Mind, Society and Behaviour

94. ��#������
���	����&

.��G$����$[�9P��� �,0-�

��������-N
�Jj� 
�5"�;

�������n-+��H�
�a

(1) ���-$�#������n-+�

(2) ���-$���2�0;��n-+�

(3) ���-$�0G���J�����n-+�

(4) ���-$����+��#���

�n-+�

95. $2�.�0���$2*�$����$�

Lb�=G���I�$�G�1�#<�

H�
�a

(1) �0����E�*v��

(2) �0����#�0*�

(3) �0������*$�

(4) B������9�0�����	
��0���

��$��

96. 2015 m�8��#�Q
��Q#8=
��F


.��=��G��F��8�	G


(1)  �O���#�� �#�������,��#��

(2) ���#�#�E#��+��#�� ��

(3) #�� ��� ^��,P�����

��8$�&

(4) ��_
/� �2?�/��0����I�
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97. Identify the states in the descending
order of density of population.

(1) Maharashtra, Madhya Pradesh,
Kerala, Bihar

(2) Bihar, West Bengal, Kerala,
Uttar Pradesh

(3) Kerala, Uttar Pradesh,
West Bengal, Tamil Nadu

(4) West Bengal, Bihar, Kerala,
Uttar Pradesh

98. ‘Economic Survey’ of India is
published by

(1) Reserve Bank of India

(2) Ministry of statistics and programme
implementation

(3) Ministry of industry and commerce

(4) Ministry of finance

99. The variable which does not influence

the value of HDI ?

(1) Infant mortality rate

(2) GDP

(3) Density of population

(4) Population size

100. Identify the financial year included in

any of the five year plan.

(1) 1967-68

(2) 1971-72

(3) 1979-80

(4) 1991-92

_______________

97. J� �,f�$����5#���?*
,��
�&� �O����3�����M
.�$��%

(1) �?���,w/��"�,0���
/����3�/
L-?��

(2) L-?��/�0e��L�>��/����3�/
�
�,0���


(3) ���3�/��
�,0���
�/�0e��
L�>��/��������


(4) 0e���L�>��/�L-?��/
���3�/��
�,0���


98. 9P�$����R ��
��� ��#U
,0 �"����	���


(1) .� �T
�L�K
�(�N
�9�Q�

(2) O����#�#��*	���0"��
��=�8�	8����,P�8$�

(3) #�# �$�#�*�J���,P�8$�

(4) B�������,P�8$�

99. #��#�#�� �� 2���$���
�28��
� ^�B-��	�
����
H�
�a

(1) ������*����	


(2) J�%�Q�%�0�%

(3) J� �,f�

(4) J� �S���#8�=�

100. H��K�8���(���0t#��
0"��$�&����=���� ��

���#�+������M.�$��%

(1) 1967-68

(2) 1971-72

(3) 1979-80

(4) 1991-92
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